IQ Puzzles
 Problem 1
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Only one digit from 1 to 9 is repeated three times in this drawing. The rest of the digits are repeated twice. Which digit is repeated three times?


A) 9         B) 8         C) 3         D) 4         E) 7

Problem 2
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How many more square tiles do we need to put on the kitchen floor to cover all of it? (See the picture.)

A) 12         B) 10         C) 9          D) 6         E) 4

 

Problem 3. After we simplify 2 + 2 - 2 + 2 - 2 + 2 - 2 + 2 - 2 + 2, what will be the result?

A) 0         B) 4         C) 2         D) 12         E) 20
Problem 4  How many squares can you see in this picture?
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